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1. (I),  (II)  (III)  :-

(A) III > II > I (B) II > III > I (C) I < II > III (D) I > II > III

2.  :-

CH3 COOH NO2

 I   II  III  IV

(A) I > II > III > IV (B) II > III > IV > I (C) I > III > II > IV (D) III > I > II > IV

3.  2NO


  :

(A) 
CCl3

(II) 
NO2

(III) 
CHO

(IV) 
O

2NO


 

(A) II  IV (B) I, II  III (C) II  IV (D) I

4.

(A) –CH2Cl (B) –OCH3 (C) –CH3 (D) –CCl3

5. :

(A) (B) (C) (D) 

6. :

(a) (b) (c) (d) 

(A) b > d > a > c (B) d > c > b > a (C) d > b > a > c (D) a > b > c > d

7. –

–CH3               –COOH

( I ) ( I I ) ( I II )

(A) I < II < III (B) III < II < I (C) II < III < I (D) I < III < II

8. :

CH3 OCH3 CF3

(I) (III) (IV)(II)

 :

(A) II > I > III > IV (B) III > I > II > IV (C) IV > I > II > III (D) I > II > III > IV

9.  :

(A) (B) (C) (D) 

EXERCISE-01 CHECK YOUR GRASP
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10.  :

(A) 3 (B) 4 (C) 6 (D) 8

11.  :

(A) 

Br

O

O
(B) 

Br

O

O

(C)

Br

O

O (D) 

Br
O

O

12.  :

—OCH + E  3

+

(electrophile)

(A) —OCH3

E

(B) —OCH3E—

(C) —OCH3

E

(D) 
—OCH3

E

13. C6H5Y 

Y  ?

(A) —NH2 (B) —COOH (C) —CH3 (D) —OCH3

14. o-, p- :

(A) —CCl3 (B) —Cl (C) —NHCOCH3 (D) —OCH3

15.  :

     

OMe

+ (CH  CHCH3) Br2 2  3AlCl




(A) 

OMe

CH CH(CH2 3 2)
(B) 

OMe

(CH) CHCH3 2 2

(C) 

OMe

C(CH)3 3

(D) 

OMe

(CH)3 3C
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16. 1.6 D :

(A)  1.6 D (B) 3.2 D

(C) 1.6 2 D (D) 0.0 D

17. HNO3  H2SO4 ,  :

(A) –
3NO (B) NO2 (C) –

2NO (D) 2NO

18. ?

(I) (III) (IV)(II)

Cl

Cl

Cl ClCl Cl

Cl

(A) I, II  III (B) I  III (C) II  IV (D) I  IV

19. :

(A) SO2 (B) SO3 (C) 2
4SO  (D) 4HSO

20. 0°C n-  :

(A) C6H5—CH2CH2CH2CH3 (B) C HCH H5 3 C6 2—CH

CH3

(C) C H CH H5 3 C6 2— —CH—

CH3

(D) 

21. -

(A) (B) 

(C) (D) 

22. KMnO4 -

(A) 

COOHHC3

(B) 

COOH

(C) 

CHO

(D) 

COOH

23. CH3COCl AlCl3  :

(A) C6H5CH3 (B) C6H5Cl (C) C6H5O2Cl (D) C6H5COCH3
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CHECK YOUR GRASP EXERCISE -1ANSWER KEY
Qu e. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Ans . D C B D B C B B B C D C B B D

Qu e. 16 17 18 19 20 21 22 23 24 25

Ans . A D B B A A B D A C

24.

CH3

2

2

Br
FeBr

 A ( )    A  -

(A) 

CH3

Br
(B) 

CH3

Br

(C) 

CH3

Br

                  (D) 

CH3

CH3Br

+

CH3

Br

50% 50%25. EAS   -

—NHCOCH3
—O—C—CH3

O

—NR3

+
—NH2

I II III IV

(A) III < I < II < IV (B) IV < I < II < III

(C) III < II < I < IV (D) II < III < I < IV



112
H

1.  m-  :

(A) —CHO (B) —OH (C) —OCOCH3 (D) —COOH

2.  :

(A) 

H

 (B) 

H

(C) 
H


(D) 

H

3.  :

           

(I)

Br Br

Br

(II) (III)

Br

Br Br

Br Br

Br

(A) II  III (B) I  II (C) II (D) III

4.  :

O

N—  2Br (1mole)
Fe



(A) 

O

N—

Br
(B) 

O

N—

Br

(C) 

O

N—

Br

(D) 

O

N— Br

5.  :

+ HNO3
2 4conc.H SO

(A) 

NO2

(B) 
NO2

(C) 

NO2

(D) 

NO2

EXERCISE–02       BRAIN TEASERS
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6. FeBr3 Br2 

 :

(A) 

(B) Br+ -

(C) Br+ - -

(D) - H+ -

H+ 

7.  :

(A)  + CH3CH = CH2 
2 4H SO (B)  +CH—CH— H3 3 C

Cl

 2 4H SO

(C)  +CHCH— H3 3 C

Cl

3AlCl (D)  + CH3CH2CH2Cl 3AlCl




8.  :

(A)  (4n +2) - (B) 

(C)    4n - (D) 

9.  :

(A) —NH2 (B) —OH (C) —NO2 (D) —CN

10.  :

(A) —OH (B) —CHO (C) —CN (D) —NHCOCH3

11.  :

(A) 

(B) 

(C) 

(D) 

12. :

(A) o- (B) m- (C) p- (D) 

13.  :

(A) (B) (C) (D) 

14.  :
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(A) 

(B) 

(C) 

(D) 

15. AlCl3 ( )  :

(A) (B) 

(C) (D) 

16. C6H6  CH2Cl2 AlCl3 

?

(A) —CH—

C1

(B) —CHCl2

(C) —C—

Cl

Cl

(D) —CH2—

17.  :

(A) 

(B) 

(C)  AlCl3  CCl4 

(D) (Cl2) 

18. :

          

NO2

C H2 5 NO2

(I)

Cl

Cl

(II) (III) (IV)

(A) I > II > III > IV (B) IV > III > II > I (C) II > I > III > IV (D) II > III > I > IV

19.  Br+  :

(A) 

NH3

+

H Br +

(B) 

NH3

+

H
Br

+

(C) 

NH3

+

H Br +

(D) 

NH3

+

H
Br

+
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20. , , —CHO, —C—R,

O

 —C—OR,

O

—CN, —NO2 

 :

(A) —NO2 >—C  N >—C—H

O

 >—C—R

O

>—C—OR

O

(B) —C—H

O

>—C—R

O

>—C—OR

O

 > —C  N >—NO2

(C) —C  N >—NO2 >—C—H

O

>—C—R

O

>—C—OR

O

(D)—C—H

O

>—NO2 >—C  N >—C—OR

O

>—C—R

O

Qu e. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Ans . A B,C D D B C A,C,D A,B,D C,D A,D A,B,C A A,B,D A,B,D C

Qu e. 16 17 18 19 20

Ans . D C,D C B A

BRAIN TEASERS EXERCISE -2ANSWER KEY
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 (True / False)

1.

2. AlCl
3
 (aq.) 

3. AlCl
3 

4. —NH2 AlCl
3 
( )  CH

3
Cl 

5. —CCl
3
  —Cl 

  (Fill in the blanks)

1.  :

(i) FeBr3 + Br2   .................. (ii) 3 2 4
conc.conc.

HNO H SO  ..................

(iii) 3 2 4
fumingsulphuricacid

SO H SO   .............. (iv) CH3Cl + AlCl3   ..................

(v) CH—CH HCl + AlCl3 2 3C

CH3

  ..................

2. SE  - ( )  :

(i) + SO3

neutral
    .................. (ii) + NO2

   ..................

3.  :

CH3

a b
c

d (a) .................. 

(b) .................. 

(c) .................. 

(d) .................. 

(Match the column)

1. I  II 

-I -II

(A) (4n + 2) - (p ) AlCl
3

(B ) O- ( q )

(C ) ( r ) -

(D ) ( s )

EXERCISE–03 MISCELLANEOUS TYPE QUESTIONS
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2.  I  II 

-I -II

(Compounds)       (orientation of attacking electrophile)

(A)

Me

Me

(p )  –NO
2

(B )

NO2

NO2

( q )

(C )

Me

NO2

( r )

(D )

NO2

( s )  –CH
3

(Assertion & Reason)

- I - II 

(A) - I - II - II, - I 

(B) - I - II - II, - I 

(C) - I - II 

(D) - I - II 

1. -I :  H2SO4 

-II :  -

2. -I : C2H5 

-II : 

3. -I : 

+

-II : 

4. -I :  H2SO4 

-II : 
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5. -I :  Cl2 1-

-1-

-II : 
•

6 5 3C H CH — CH

6. -I : 

-II : 

7. -I :  AlCl3/ n- 

-II : 

8. -I :  o-, p -

-II : o-, p-

9. -I : 

-II : 

10. -I : 

-II : 

 (Comprehension Based Questions)

 # 1

o-  p-

1. 2 5 3C H Cl,AlCl


 (A) major.

A  A :

(A) 

C H2 5

C H2 5

C H2 5

(B) 

C H2 5

HC5 2

C H2 5

(C)

C H2 5

HC5 2
C H2 5

(D) 

CHCH CHCH2 2 2 3
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2.  + 

O

O

O 3AlCl (A) 2 4H SO (B) + (C) 
(i) Zn–Hg/ HCl

(ii ) Se,
D + E

D  E  :

(A)   

(B)   

(C)   

(D)   

3.
CH2CH3

 4

2 3

(i ) NBS,CCl ,hv
(ii) Br / FeBr

 (X)

X :

(A)  

C H52

Br

Br

(B) 

CH—CH3

Br

Br
(C) 

CH—CH3

Br

Br

(D) 

 # 2

1  4 

, 

( ) 
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1.  ?

(A) 

OH OH

BrCH3

(B) 

OH OH

Br

Br Br

CH3

(C) 

OH OH
Br

(D) 

NH2

Br

NH2

CH3

2.  ?

(A) 

OCH3

(CH) CHBr3 2

AlCl ,15–25°C 3

CH3

OCH3CH3

CH3

CH3

(B)

CH3CH–C–Cl3

AlCl ,CS 5°C 3 2 

CH3

CH3HC3

O
CH3 O

CH3HC3

(C)  

Br

OH

Br –.HO2 2

40–50°C 

O

NH2
NH2

Br

Br OH

O (D) 

Br Br

OH OH

Br

Br2

CS ,0°C 2

3. —OH 

 ?

(A) (B) (C) (D) 

 # 3

-

1. m-  :

(A) 

Cl

NO2

Cl
(B) 

Cl

NO2

Cl

(C) 

NO2

Cl

(D) 
Cl

NO2

Cl
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2.
OH

CH3

 E  ......... ?

(A) 
OH

CH3

E

(B)  
OH

CH3

E

(C) 

OH
CH3

E

(D) 

3.

CH3HN

O

 2 3CH / CH COOH  ?

(A) 
Cl

CH3HN

O

CH3

(B) 
Cl

CH3HN

O

CH3

(C) 
Cl

CH3HN

O

Cl

(D) 

Cl

CH3

HN

O

4.

CH3

NO2

3

2 4

HNO
H SO

 , unlikely to form is -

(A) 

CH3

NO2

NO2

(B) 

CH3

NO2

NO2

(C) 

CH3

NO2ON2

(D) 

CH3

NO2

NO2



1. F 2. F 3. T 4. F 5. F



1. (i) Br+ ;       (ii) 2NO


;         (iii) SO
3
 ;       (iv) 

–

3 3[CH — Cl — AlCl ]
 

;        (v) CH—C—CH3 3

CH3



2. (i) +

H
SO3  (ii) +

H
NO2 3. (a) sp2 ;       (b) sp3 ;       (c) sp3 ;       (d) sp2



1. (A) q,r ; B q,r,s ; (C)  p ; (D) s 2. (A) q, r ; (B) p, r ; (C)  q, p ; (D) p



1.  D 2.  D 3. C 4.  A 5.  A
6.  A 7.  B 8. D 9.  A 10. D



 #1  :  1. (A) 2. (B) 3. (A)

 #2  : 1. (C) 2. (D) 3. (C)

 #3  : 1. (A) 2. (D) 3. (B) 4. (C)

MISCELLANEOUS TYPE QUESTION EXERCISE -3ANSWER KEY
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1. Br

H



+FeBr4
–

Br
H

+

H
Br

FeBr3

 ................

2.  :

(i) 2NO ,    (ii) 
3CH



3. C6H4(NO2)CH3 

(I) ........................... (II) ............................ (IIII) .............................

4. SE  :

(i) 

CO2H

CO2H

 3 2 4HNO / H SO  ............. (ii) 

CH3

CH3

3 3CH COCl / AlCl  ..............

(iii) 

OH

  2 2Br / H O  ................. (iv) 

Cl

CH3

 3 2 4HNO / H SO  ..................

(v) 2Br Fe  .................

5.  :

(i) H3C

CH3

    (ii) 

HO2C

CO2H           (iii) 

Cl

CH36.  :

(i) 

CH3

    (ii) 

NO2

CH3

           (iii) 

NO2

NO2

CH3

EXERCISE–04 [A] CONCEPTUAL SUBJECTIVE EXERCISE
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7.  :

O—CH3: :


H E
I

   

O—CH3:

H E
II

+

  

O—CH3: :



HE
III

8.  :

(i) 

OCH3



HE

(ii) 

H E

OCH3

:
:

9. (  —NH2 o-, p- ) 

?

 
H
E



NH2

(meta-attack)

H
E



NO2

(ortho-attack)
(I) (II)

10.  :

(i) 

NO2

CH3

 2Br /Fe A (ii) 
NO2

OH

 3 2 4HNO / H SO B

(iii) 

NO2

OH

 2Br /Fe C
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CONCEPTUAL SUBJECTIVE EXERCISE EXERCISE -4(A)ANSWER KEY

1. -

2. (i)

N N N N
O– O– O– O–

+ + + +O O O O

+

+

+
+

(ii) 
+

+

+
+

CH3 CH3 CH3 CH3

3. (i)

CH3

NO2
(ii) 

NO2

CH3

(iii) 

NO2

CH3

4. (i) 

COOH

CO2HO2N

    (ii) 

CH3

CH3

COCH3

(iii) 

OH

Br

Br

Br

     (iv) 

Cl

CH3

NO2

        (v) 

Br

—Br+

5. (i) H3C

CH3

E     (ii) 

HO2C

CO2H

E

           (iii) 

Cl

CH3

E

6. (i) ;  —CH3 

7. (III)

8. (I) , —OCH3 + M  .
9. (I)

10. (i) 

NO2

CH3

Br

(ii) 

NO2

OH

NO2

(iii) 

NO2

OH

Br
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1.  (C10H8) ( ) 

(i)

(ii)  ?

2.  :

(i)    (ii) 

CN CN

PhPhPhPh

   (iii)  

3. A, B, C  :

CH3

+

H
E

CH3

+ E
+

A

,
+

H
E

+ E
+

B

, + H
E

C

NO2

+  E
+

NO2

4. 6 5C H , C6H5–C6H5

SE 

5.  :

(a)  +CH—C— H3 2C Br

CH3

CH3

3AlCl


C (b) 

(excess)

 + CH2Cl2
3AlClD

6.  :

+

I

 

+

II

+

III

EXERCISE–04 [B] BRAIN STORMING SUBJECTIVE EXERCISE
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7.  SE  ?

(i) 

OH
I

O
II

(ii) 

OH
I

OH
II

NO2

8.  2NO ( ) —O—C—

O

 

9.  ?

    

C

O

C

O

10.  ? 
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1. (i) (ii) 

2. (i)      (ii) 

CN

PhPh

   (iii)  

3. A < B < C

4.

+ +–

–

5. (a) 
—C—CH3

CH3

C H2 5

(b) —CH—2

6. I > II > III

7.  (i) (II) , (ii) (II) 

8. —O—C—

O

ON—2

9.  

C

O

C

O–

+

C

O

C

O–

+

10. AlCl
3
  FeCl

3 

N +ve 

N N

+ AlCl3

AlCl3–
complex

+

BRAIN STORMING SUBJECTIVE EXERCISE EXERCISE -4(B)ANSWER KEY
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EXERCISE - 05 [A] JEE-[MAINS] : PREVIOUS YEAR QUESTIONS

1. [AIEEE-2002]

(A) NaOH (B)  AgNO
3
(C) Na (D) HCl

2.  - [AIEEE-2002]

(A) CH
3
COCl (B) ClCH

2
CHO (C) Cl

2
CHCHO (D) ClCH

2
COOH

3. 1–   - [AIEEE-2003]

(A) Pd/H
2

(B) Zn - HCl (C) Sn - HCl (D) Zn - Hg/HCl

4.

 - [AIEEE-2003]

(A) (B) (C) (D) 

5.  Zn-Hg/HCl  HCl [AIEEE-2004]

(A) -2- (B) (C) (D) 

6.  :  [AIEEE-2004]

(A) (B) 1– (C) 1– (D) n–

7. 2- [AIEEE-2005]

(A) 2– –2– (B) 1– –2–

(C) 1– –3– (D) 2– –3–

8. [AIEEE-2005]

(A) (B) 

(C) (D) 

9. 40°C 1,3– HBr [AIEEE-2005]

(A) 1– -2–

(B) 3– -2–

(C) 1– –2-

(D) 3– –2–

10. [AIEEE-2005]

(A) (B) 

(C) (D) 

11. 2- [AIEEE-2005]

(A)  2– (B) 1  2–

(C) 2– (D) 1–
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12.
Me

N
OHMe

Et
n Bu



- [AIEEE-2006]

(A) 
Me

(B) CH
2
=CH

2
(C) 

Me

(D) 

Me

13. KOH 2- -1- [AIEEE-2006]

(A) 4- (B) 2-

(C) 1- (D) 3-

14. - [AIEEE-2006]

(A)  Mg(OH)Br (B)  Mg(OMe)Br 

(C)  Mg(OH)Br (D)  Mg(Me)Br 

15. 2, 2- [AIEEE-2007]

(A) CH3—C CH + 2HBr  (B) CH3CH CHBr + HBr 

(C) CH CH + 2HBr  (D) CH3 — CH  CH2 + HBr 

16. ‘B’ [AIEEE-2008]

CH
3
CH=CHCH

3
 3O  A 2H O

Zn  B.

B 

(A) CH
3
CH

2
CHO (B) CH

3
COCH

3
(C) CH

3
CH

2
COCH

3
(D) CH

3
CHO

17.   [AIEEE-2008]

(A) CH
3
CH

2
CH

2
C  CCH

2
CH

2
CH

3
(B) CH

3
CH

2
C  CH

(C) CH
3
CH=CHCH

3
(D) CH

3
CH

2
C  CCH

2
CH

3

18. CH
3
MgX  CH

3
C  C–H [AIEEE-2008]

(A) CH
3
–CH=CH

2
(B) CH

3
C  C–CH

3
(C) CH—C=C—CH3 3

H
|

H
|

(D) CH
4

19. [AIEEE-2010]

C6H5CH2CH(OH)CH(CH3)2
Conc. H SO2 4  ?

(A) 
HCCHCH5 6 2 2

HC3
C = CH2 (B) 

HC5 6

H
C = C

H

CH(CH)3 2

(C) 
CHCH6 5 2

H
C = C

CH3

CH3

(D) 
CH6 5

H
C = C

CH(CH)3 2

H
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20.

44 u  :- [AIEEE-2010]

(A) (B) (C) 1- (D) 2-

21.

:-             [AIEEE-2011]

(A) (B) 

(C) (D) 

22. 'A' 

'A' :-             [AIEEE-2011]

(A) 2 -  - 1- (B) 1 - 

(C) 2  - (D) 2 -  - 2 - 

23.  2– –2– :-            [AIEEE-2012]

(A) Li AlH4 (B) Pt/H2 (C) Li/NH3 (D) Pd/BaSO4

24. ?     [AIEEE-2012]

CH=CHCOCH3

HO
   

CH=CHCH CH2 3

HO

(A) NaBH4 (B) NH2 NH2,OH (C) Zn – Hg / HCl (D) Na, Liq.NH3

JEE-[MAIN] : PREVIOUS YEAR QUESTIONS EXERCISE -5[A]ANSWER KEY
Que. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Ans 1 3 1 1 1 1 1 4 1 1 1 2 4 2 1

Que. 16 17 18 19 20 21 22 23 24

Ans 4 2 4 2 4 4 4 3 2



131H

1.  : [IIT-86]

(A) (B) m-

(C) (D) o– –p–

2. -

(A) (B) 

(C) (D) [IIT-90]

3. - [IIT-90]

(A) (B) (C) (D) p-

4. NaOH :

(A) o- (B) p- (C) 2, 4- (D) [IIT-90]

5. -[IIT-93]

(I) (II)

NH3
NH3



+

(A) II 

(B) II 

(C) II 10 

(D) II 

6. : [IIT-93]

(A) 3– (B) 4–

(C) 2– (D) 2,4–

7. : [IIT-95]

(A) p–NO2–C6H4– +CH2 (B) C6H5
+CH2

(C) p–Cl–C6H4– +CH2 (D)p–CH3O–C6H4– +CH2

8. SE [IIT-95]

, ,  ,   

       I                II           III               IV

(A) I > I > III > IV (B) III > I > II > IV (C) IV > II > I > III (D) I > II > III > IV

9. -  [IIT-97]

(A) 

(B) 

(C) 

(D) 

10. HNO3  H2SO4 HNO3 

- [IIT-98]

(A) (B) (C) (D) 

11. (C6H5CH2Cl) -   [IIT-98]

(A) SO2Cl2/h (B) SOCl2  (C) PCl5 (D) NaOCl

EXERCISE - 05 [B] JEE-[ADVANICE] : PREVIOUS YEAR QUESTIONS
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12. p– - [IIT-98]

(A) 

N
O–

+ O

O
–

(B) 

N
O

–
O

–
+

O

(C) 

N
+

O
–

OO

(D) 

N
+

O

OO–

:

13. CH3–CH=CH– –OH HBr - [IIT-98]

(A) CH–CHBrCH3 2 OH (B) CHCHCH3 2 Br OH

(C) CHCH3 BrCH2 Br (D) CHCH3 2CHBr Br

14. C–C - [IIT-98]

(A) (B) 

(C) (A) & (B) (D) 

 15. -                 [IIT-2000]

(A) C6H5NH2 (B) p–O2NC6H4NH2 (C) m–O2NC6H4NH2 (D) C6H5CH2NH2

 16.

NH
Me Me

O

Br2

Fe
  ?    :                 [IIT-2004]

(A) 

NH
Me Me

O

Br

(B)  

NH
Me Me

O

Br

 (C) 

NH
Me Me

O

Br

(D) 

NH
Me Me

O

Br

17.

NO2

OH

SOH3
NaHCO3 NaHCO3(I) (II)

NO2

 (I) (II) :  [IIT-06]

(A) CO2
, CO2 (B) SO2,NO2 (C) SO2, CO2 (D) SO2, NO



133H

18. -  [IIT-06]

OH OH

OH

(I) (IV)

OH

OH

(II)

OH

OH
(III)

(A) (I) < (II) < (III) < (IV) (B) (I) < (II) < (IV) < (III)

(C) (IV) < (I) < (II) < (III) (D) (II) < (I) < (III) < (IV)

19. :

               [IIT-2002]

1 2 3 4

CH3 Cl NO2

(A) 1 > 2 > 3 > 4 (B) 4 > 3 > 2 > 1 (C) 2 > 1 > 3 > 4 (D) 2 > 3 > 1 > 4

20. C6H6 + (CH3)2CHCH2Cl 
AlCl3
  ?               [IIT 1992]

21. —COO— 3 2 4HNO / H SO
mononitration

                 [IIT 1993]

22. C6H6 + (CH3)2CH.CH2OH 2 4H SO ?               [IIT 1994]

23. :

O—HOOC—C6H4—CH2—C6H5 
2

3

SOCl anlydrous Zn Hg
AlCl HCl

A B C                 [IIT 1995]

24. /                [IIT 1996]

O

O

O+

OMe

3 3 4

3

(i )AlCl Zn Hg/ HCl H PO

(ii)H O
A B




  

O
MeO

25.                 [IIT 1997]

(i) 

Me

+

H

CH3

HC3

Br
3

Anlydrous
AlCl / 

   ? (ii) 

CCl3

 2Cl
Fe



26.  :                [IIT 1998]

 CH3CONHC6H5 2Br ,Fe
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27.                 [IIT 2002]

O

N—
2Br /Fe

(1eq.)
  ?

28.                 [IIT 2002]

Cl

O

2 3 3 2 4Cl ,FeCl Na Hg/HCl HNO /H SOA B C  

29.  : 

CO2H

F

CO2H

                [IIT 2003]

30. 7- -1, 3, 5- 5- -1, 3- Ag+

? [IIT 2004]

31.         (B) 2 3NaBr MnO Conc.HNO(A)  (C) 

CH3

(D).

( ) ( )

A  B  A  C                 [IIT 2005]

32.  :

(a)      (i)  

N

: O

 3

2 4

Conc.HNO
Conc.H SO



N

: O

NO2
  + 

N

: O

NO2

 (ii)  

NO2

3

2 4

Conc.HNO
Conc.H SO



NO2

NO2

(b)   
2

Pd / C
3moleofH

    
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33. CH3–CH=CH2 + NOCl   P [IIT 2006]
P 

(A) 

NOCl
||
CHCHCH 23  (B) 

ClNO
||
CHCHCH 23 

(C) 

Cl
|

CHCHCH
|
NO

23  (D) 
ClNO
||
CHCHCH 222 

34. -2- [IIT 2007]
(A) 1 (B) 2 (C) 3 (D) 4

35. C6H14 [IIT 2007]
(A) 3 (B) 4 (C) 5 (D) 6

36. / [IIT 2007]

 ? H  H

(A)  KOH (B)  KOH  NaNH2

(C)  KOH  NaNH2 (D) Zn / CH3OH

37. 3-

(A) BrCH2CH2CH2CH2CH3  CH3CH2CCH [IIT-2010]

(B) BrCH2CH2CH3  CH3CH2CH2CCH

(C) BrCH2CH2CH2CH2CH3  CH3CCH

(D) BrCH2CH2CH2CH3  CH3CH2CCH
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PREVIOUS YEARS QUESTIONS EXERCISE -5

1. (D) 2. (B) 3. (A) 4.(D) 5. (C) 6. (A) 7.(D) 8. (C)

9. (C) 10. (A) 11. (A) 12. (C) 13. (B) 14. (B) 15. (D) 16. (D)

17. (A) 18. (C) 19. (A)

20. CMe3 21. —COO— —NO2

(Major)

22.  C6H6 + (CH3)2CH.CH2OH 2 4H SO CMe3

23. 
—CH    2—

COCl
,    

O

,   

24.  (A) 

OMe

CO H2

O

(B) 

OCH3

CO H2 25.  (i) 

CMe3

Me

   (ii) 

CCl3

Cl

26. CH—C—NH—3 —Br

O

27.  

O

O

N— —Br

28. (A) 
Cl

Cl

O

 (B) 

Cl

Cl
 (C) 

Cl

Cl NO2

30.    



 

31.  Br2
2 3NaBr MnO Conc.HNO

2 4H SO  ( 2NO


) 

CH3
CH3

NO2

NO2

O2N

32. (a) (i) —NO  (ii) —NO
2
 

(b) 

33. A 34. A 35. C 36. B 37. D

ANSWER KEY


